Mathematics, Summer 2010 / Exercise 2

MIRNYN = 2 999N

IDININ MNXNYND MOIYN NN NS .1

3r+3y = 0 20 +y = 0 x+2y =7
o) (2) (N)
20 -3y = -—10 —r—2y = —6 3r—y = 0
—2x—6y = -—13 —3x—5by = -—27 de—y = 3
(9)] (@) ()]
6z 4+ 6y = 33 2c —by = =T —Tr—4y = -—-11
xr+Ty = 63 3r—y = 2 -z = -1
(©) S om
20+y = 9 r+y = 3 Ty—4dz = -1

TINAD MNXNVYND INITINS 2
22492 -36=0() z2—z+2=0(@A) 22+3x+2=0(N)

22-9=zx-3@®W x2—-2z=-15 () 2 —2x =15 (1)
22 — 202 4+ 100 = —0.0001 (v) 5x2 = 2z (M) 922 — 6z = —1 (1)
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(2+1)°=16 (@ (2e-7)>=9 x




